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7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.54 54.24 | FnRS | 000 ~ 4.34 | 1.97 9.95 ThLst 1.00 | 5.00 ~ 5.00 54.24 | =hLS | 6.00 ~ 5600 1.97 9.985
2 100kN/m%z#8z5 | 1.00 | 000 ~ 1.79| 12756 |3mZz#z3| — ~ — — — | 100kN/m%i#825 | 1.00 | 11.05 ~ 19.31 127.56 [3mZz#EZ5 - ~ — — —
zhLst 100179 ~ 958\ 100.00| FhLs | 000 ~ 958 2.22 11.21 FnLsn 1.00 | 6.00 ~ 11.05| 100.00 | FhLst | 65,00 ~ 1931 2.22 11.21
3 100kN/m%x#8z5 | 1.00 | 000 ~ 1.87| 12881 |3mZz#z3| — ~ — — — | 100kN/M%&#B=2% | 1.00 | 1246 ~ 2959| 12881 |3m&E#BZ% - ~ — — —
st 1.00 | 1.87 ~ 9.66 100.00 | #nst | 000 ~ 9.66| 2.71 13.68 st 1.00 | 6.00 ~ 1246 100.00 | =nLSt | 6.00 ~ 2959 2.71 13.68
4 100kN/m%z#8z5 | 1.00 | 000 ~ 1.15| 11733 |3mZz#z3| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1059 ~ 1410 117.33 |3mEEZS - ~ — — —
st 1.00 | 115 ~ 893 100.00 | =nLst | 000 ~ 893 | 2.24 11.33 ThLst 1.00 | 5.00 ~ 10.59 100.00 | =nst | 6.00 ~ 1410 2.24 11.33
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 762 97.66 | FnLS | 000 ~ 7.62| 258 13.06 ThList 1.00 | 5.00 ~ 1280 97.66 | ThLH | 5,00 ~ 1280 2.58 13.06
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 4.54 54.22 | =nhst | 000 ~ 4.354| 1.97 9.95 FnLsn 1.00 | 5.00 ~ 5.00 54.22 | #hLst | 5,00 ~ 500 1.97 9.985
7 100kN/m%z#8z5 | 1.00 | 000 ~ 1.33| 120.09 |3mZz#z3| — ~ — — — | 100kN/m%E#Ez25 | 1.00 | 1064 ~ 1520 120.09 |3mEEZ5 - ~ — — —
ThLlst 100|133 ~ 9.11 100.00 | #hst | 000 ~ 911|230 11.63 TnList 1.00 | 56.00 ~ 1064 100.00| ThLS | 5,00 ~ 1520 2.30 11.63
P 100kN/m%Z#8z25 | 1.00 | 000 ~ 1.43| 121.69 |3mZz#Bz2B| — ~ — — — | 100kN/m%Z#B=2% | 1.00 | 1061 ~ 1560 121.69 |3mEBZS - ~ — — —
ThLlst 1.00 | 143 ~ 9.21 100.00 | #hst | 000 ~ 921 | 2.31 11.66 TnList 1.00 | 500 ~ 1061 100.00 | #helst | 5.00 ~ 1560 2.31 11.66
9 100kN/m%E#BZ25| 1.00| 000 ~ 095 11432 |3m&EEZB| — ~ — — — | 100kN/m%#B=2% | 1.00 | 1058 ~ 1340 | 114.82 |3mE#BZ% - ~ — — —
ThLlst 100|095 ~ 874 100.00 | #hst | 000 ~ 874 224 11.31 TnList 1.00 ] 5.00 ~ 1058 100.00| ThLS | 5,00 ~ 1340 2.24 11.31
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst 1.00 | 000 ~ 7.76 99.65 | Fhst | 0oo ~ 7.76| 223 11.26 TnList 1.00 | 6.00 ~ 10.50 99.65 | FhLst | 5,00 ~ 1050)| 2.23 11.26
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 4.05 50.68 | =nLs | 0.00 ~ 4.05)| 2.28 11.561 FhLst 1.00 | 6.00 ~ 6.50 50.68 | =nLS | 6,00 ~ 6.60)| 2.28 11.51
100kN/MZ#8Z % ~ 3mEBZ D ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




